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QUESTION 1

Which two statements are true about subnets within a VCN? (Choose two.) 

A. You can have multiple subnets in an Availability Domain for a given VCN. 

B. Private and Public subnets cannot reside in the same Availability Domain for a given VCN. 

C. Subnets can have their IP addresses overlap with other subnets in another network for a given VCN. 

D. Instances obtain their private IP and the associated security list from their subnets. 

Correct Answer: AD 

References: https://cloud.oracle.com/en_US/bare-metal-network/vcn/faq 

 

QUESTION 2

Which three are default Virtual Cloud Network (VCN) components? (Choose three.) 

A. Security List 

B. Dynamic Routing Gateway 

C. DHCP options 

D. Internet Gateway 

E. Route Table 

Correct Answer: ACE 

References: 

(1)

 => Populated by Default 

(0)

 => Not Populated by Default 

Resources 

========== 

Subnets (0) 

Route Tables (1) 

Internet Gateways (0) 

Dynamic Routing Gateways (0) 
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Network Security Groups (0) 

Security Lists (1) 

DHCP Options (1) 

Local Peering Gateways (0) 

NAT Gateways (0) 

Service Gateways (0) 

 

QUESTION 3

Where are DB Systems backups stored by default? 

A. ASM disk group 

B. locally attached NVMe on virtual machine 

C. block volume 

D. object storage on Oracle Cloud Infrastructure 

Correct Answer: D 

 

QUESTION 4

Which two statements are true about data guard service on DB Systems in Oracle Cloud Infrastructure (OCI)? 

A. Data guard implementation requires two DB Systems, one running the primary database on a virtual machine and the
standby database running on bare metal. 

B. Data guard implementation requires two DB Systems, one containing the primary database and one containing the
standby database. 

C. Data guard configuration on the OCI is limited to a virtual machine only. 

D. Both DB Systems must use the same VCN, and port 1521 must be open. 

Correct Answer: BD 

 

QUESTION 5

In what two ways does Oracle Cloud Infrastructure (OCI) file storage service differ from OCI object storage and block
volume services? 

A. You can move object storage buckets, block volumes and file storage mount targets between compartments. 

B. File Storage uses the network file system (NFS) protocol, whereas block volume uses iSCSI. 
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C. Block volume service Is NVMe based, while file storage service is not. 

D. File storage mount target does not provide a private IP address, while the object storage bucket provides one. 

Correct Answer: AB 

The mount target provides the IP address or DNS name that is used together with a unique export path to mount the file
system. You can move mount targets from one compartment to another. 
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